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AS2HEA V327 = 1.808 , V32.7 = 5.718 & T, T}& & 27
oFr O

@ V327 =18.08 @ +0.0327 = 0.01808
® +0.327 = 0.5718 @ 3270 = 57.18

® /32700 = 180.8



B<x<290, Vi2+6x+9-2VxZ+4x+4+ Va2 & F5}
™9

@ -2x-1 @ 2x+7 ® -1

@ Ax+7 B 4x-1



A (x=1)% - 9y* & ]l52elistw?

@ (x+3y-1)(x-3y+1) @ (x+3y+1)(x-3y-1)
@ (x+3y-1)(x-3y-1) @ (x+3y-1)(x+3y-1)

® (x+3y+1)(x-3y-1)



0800 < x <600, = 2} o okl VBx T 7} ool 447} sl
5k 44 x 9 A58 Foha?

@ 574 @ 5270 ® 1007
@ 10170 ® 301 7



6.

(x-2)x>-3(x-2)x-10(x-2) & AFEl5tH?
@ (x-2)(x=5)(x+2) @ (x-2)(x+5)(x+2)
® (x=2)(x-5)(x+3) @D (x-2)(x+5)(x-2)
® (x-2)(x+5)(x=13)
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